Family

The marrying age has increased everywhere. I think, that average marrying age is 25 or so. Most
of young people start family after they begin to earn money or get their degrees.

I think the best is to marriage after mature. Young couple can go to work immediately and
earn money. That’s belong to family. I think it’s stupid to live with parents in the same house and
depend on them. And if they want to start family, they’ll need much money to take care of their
children. Each one of couple must respect his/her partner. Without respect they can’t live together.
They should always telling the truth, but sometimes it is better to be silent, when the truth is too
hard or cruel. They must have the same interests, but impossible is to have only the same interests.
Of course they can have also different interests, but not many. In happy marriage they can’t have
a completely different character. Than they would have different opinions and many conflicts, rows
and arguments. If they had an argument and they break up, they would make it up immediately
and make compromise with problem. But these conflicts must be only a little. If after row follow
not to being on speaking terms and doing something on purpose it will be very bad and it will be
very difficult to save the marriage and to get on together. Each one of partners must endeavour
for understanding his/her partner. The partners should say some problems from work and with
children. In happy marriage is impossible to have an affair with a married woman or have sex with
somebody else. When someone of partners are unfathful then divorce will follow. I think that happy
marriage can’t be without children.

In Britain and the USA is a trend towards smaller families. I think, that in the Czech republic
is the same trend. Most of young couples want only two children.

In Britain women go back to work until the child is five or six and starts going to school. In czech
republic is maternity leave two years, and then most of children are in play groups, kindergartens,
or nursery schools. In Britain growing number of children under six visit kindergartens, too.

In Czech republic is common for three generation to live in the same house or town. This is less
common in the USA and Britain. People move house very often for better job or only for a change in
their life. Czech young couples prefer living near their parents, because when they’re busy, parents
can help them with children.

Divorces

There are many common reasons for getting divorced. Different opinions or charakters caused
lack of understanding. Different characters mean, that one of couple is domineering and the other
is submissive. The fault is, that they didn’t recognize themself before they’ve married. Next reason
is infidelity. I think that after infidelity will follow divorce, but in some cases needn’t. For example
when couple has lived together for very long time, or when children is more inportant or when
mutual relation is more free. Marriage is unhappy, when one of the couple is a gambler or a drag
addict or when he/she drinks much alcohol. If partners are busy then partners are lone and they
see each other a little and then one of couple can fall in love with someone else. The another reason
for getting divorced is that one of couple prefer work or some interests to his/her family.

Divorces have bad influence on children. Children miss one partner and his/her role in family
and it would cause later trouble in partners relations of children. In family can also be unhappy
atmosphere and it has bad results, changes of the children’s charakter.

Upbringing

In Britain and the USA parents give more money to their children, than in Czech republic. They
require less obedience than Czech parents. Small children can appear naughty, but in the age about
twelve they’re more independent than Czech children of the same age.



The parents must be strict and require obedience. Mostly only one of the parents are strict, and
children like him /her less. But sometimes parents should be also lenient, if children aren’t naughty.
When child is very naughty, parents are able to punish him /her,then the child remember better
what was wrong. When children are older, parents should give them more indipendence. Children
must help their parents with household chores. They learn of manual skil and it’s important for
their life.

In my opinion is better when parents give children certain sum of pocket money for some period,
because children must save it for longer time and they can’t waste them. But much money spoils
children’s charakter of course, they doesn’t appreciate the value of money and they can’t economize
it.

Generation gap is caused by behaviour and opinions on various aspects of life. Generation gap is
between parents and children. Parents are older, had different conditions and have more experience.
Parents have different interests, they likes different things, for example music, wear,... In family
are parents too domineering, only their opinions are right. There are some solutions of generation
gap, but they don’t solve all conflicts caused by generation gap. Conflicts can be avoided or can
help discuss and make compromise.

Reasons of conflicts are many. One of them is spending children’s leisure time. Parents want
from children to help them with some works, but children want to go out with friends. The parents
are also very critical of school results. They realize that their children will be better than they was,
that their children reach higher education. Another reason is friends. Parents sometimes don’t like
friends of their children, I mean boyfriend and girlfriends. Another point of critic is laziness and
life-style of teenagers.

Now children find their recreation outside the family, in clubs, discotheques. In my opinion are
children same as their parents, but parents have forgotten it.



